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Port I Skimming and_Scanning s wnues
BT Y &1 8 ¢
Directions: In this part, you will have 15 minutes to go over the passage
quickly and answer the questions on Answer Sheet 1.
For questions 1-7, mark

Y (for YES) if the statement agrees with the information given in
the passage ;

N (for NO) if the statement contradicts the information given in
the passage ;

NG (for NOT GIVEN) if the information is not given in the passage.
For questions 8-10, complete the sentences with the information given in the
passage . FimEcFom e T T
" TowiFom T
Why Don’t Girls Think Like Boys?

Do you believe that only boys do well in science? Does it seem to you that girls
have better vocabularies than boys? In your opinion, are boys better at building things?
If your answer to each of those questions is “Yes”, you are right, according to an
article in Current Science. There are exceptions, but here are the facts.

On the average, males score higher on tests that measure mathematical
reasoning, mechanical ability, and problem-solving skills. Females show superior
ability in tests measuring vocabulary, spelling and memory. But these differences will
probably not always exist. In the future, a person’s abilities may not be determined by
sex. As one scientist says, “Nothing is impossible for a person to be or do.”

In several recent studies, young babies have been observed and tested to discover
how different abilities are developed. A scientific team headed by Jerome Kagan, a
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psychologist at Harvard University, is studying the thinking ability of children 11
months old. The test is a simple one. The baby, while seated on its mother’s lap,
watches “show” on a small theater stage.

In act 1 of the show, an orange-colored block is lifted from a blue box and moved
slowly across the stage. Then it is returned to the box. This is repeated six times. Act
2 is similar, except that the orange block is smaller. Baby boys do not seem to notice
the difference in the size of the block, but girls immediately become excited and begin
to make noises that sound like language. They seem to be trying to talk.

It is known that bones, muscles, and nerves develop faster in baby girls. Usually,
too, baby girls talk at an earlier age than boys do. Scientists think there is a physical
reason for this. They believe that the nerve endings in the left side of the brain
develop faster in girls than in boys. And it is this side of the brain that strongly
influences an individual’s ability to use words, to spell, and to remember things.

By the time they start to school, therefore, little girls have an advantage that
boys do not have. Girls are physically more ready to remember facts, to spell, and to
read. There, of course, are skills that are important in elementary school.

But what have the boys been doing in the years before starting school? They have
been developing something called aggression. An aggressive person has courage and
energy. He feels strong and independent. He is often the first one to start a fight.

What produces aggression in little boys? It has long been assumed that aggression
is caused by male hormones. Scientists today believe that male hormones are not the
only part of the explanation, however. They say aggressiveness in boys is also caused
by mothers.

A team of psychologists discovered this by placing mothers and their one-year-old
babies in a room filled with toys. The room had a wall through which the scientists
could observe what happened without being seen. They took notes on everything the
mothers and babies did.

Here is a sample of those notes, taken during the observation of a baby boy and his
mother:

“Baby leans against mother. Looks up at her. She speaks to him. She turns him
around. He walks away, picks up a toy cat. Goes to mother, drops the cat, and leans
against her. Looks up at her. She turns him around. ”

From such observations and from conversations with mothers, the scientists
learned something about the treatment of baby boys and baby girls. While the mother
keeps her daughter close to her, she unconsciously trains her son to move away from

e 2 o
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her, to develop independence, and to explore his surroundings. She trains him to
become aggressive and to be a problem solver.

Consequently, it is easy to understand why little girls often perform school tasks
more satisfactorily than boys, especially if the task requires sitting still, obeying
commands, and accepting the teacher’s ideas. A girl may pass easily through the first
few grades. While boys of her age bring home low marks, the girl may easily get good
grades. Girls seem to have “better brains” in school. Why, then, do so few girls
become great scientists? Why is the most important thinking in adult society done by
men?

According to scientists, the answer is aggression. Because boys are aggressive,
they refuse to accept other people’s solutions; they insist upon solving problems for
themselves. Thus, while little girls are getting high marks in school for remembering
what the teacher has told them, little boys are learning to think in more independent
ways.

In the adult world, the aggressive person is usually the one who gets the big
salary, the great responsibility, the powerful job. And since males are trained at an
early age to be aggressive, males are more often chosen for key positions.

Many people believe this situation is wrong. They think women could be
successful in science and industry if their early training included some “aggression
lessons,” if they were rewarded for independence and problem-solving, as boys are.

Furthermore, some psychologists believe that boys may get too much training in
aggression. Perhaps little boys should be permitted to learn more on their mothers. It
might make them more gentler. The world needs gentleness as much as aggressive
strength.

Questions;

1. It is usually the case that girls learn better in vocabularies than boys.

2. Sex will not always determine a person’s ability.

3. In the show that mentioned above, baby boys seem to notice the difference in the
size of the block earlier than the girl babies.

4. The nerve endings in the left side of the brain develop faster in boys than in girls.

- Male hormones are not the only reason that boys are aggressive.

- In scientists’ observation, the mother trains her son to develop independence

consciously.

7. Teachers tend to like girls because they can get better grades and accept the

teachers’ ideas faster.

AN W
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8. According to scientists, boys insist upon and they refuse to accept other
people’s solutions which teach them to think in more independent ways.

9. Many people believe that and problem-solving will make women
successful in science and industry.

10. According to the author, the world needs gentleness as much as

Partdl: Reading_in_Depth..es mne

Section A
Direction; In this section, there is a passage with ten blanks. You are

required to select one word for each blank from a list of choices given in a word
bank following the passage. Read the passage through carefully before making
your choices. Each choice in the bank is identified by a letter. Please mark the
corresponding letter for each item on Answer Sheet 2 with a single line through the
centre. You may not use any of the words in the bank more than once.

Hime From T g
MowaliFrom. ' yTor T
A good modern newspaper is an extraordinary piece of reading. It is remarkable
first for what it (11) : The range of news from local crime to (12)

politics, from sport to business to fashion to science, and the range of comment and
special features(4§%5) as well, from editorial page to feature articles and interviews to
criticism of books, art, theatre and music. A newspaper is even more (13) __ for
the way one reads it: Never completely, never straight through, but always by (14)

from here to there, in and out glancing at one piece, reading another article all
the way through, reading just a few paragraphs of the next.

A good modern newspaper offers a variety to (15) many different readers,
but far more than any one reader is interested in. What brings this variety together in
one place is its topicality (Bt ), its immediate (16) to what is happening in
your world and your locality now. ®[But immediacy and the speed of production that
goes with it mean also that much of what (17) in an newspaper has no more
than transient(JH % A9) value. ) For all these reasons, no two people really read the
same paper: What each person does is to put together out of the pages of that day’s
paper, his own(18) and sequence, his own newspaper. ®[For all these
reasons, reading newspapers (19) » which means getting what you want from
them without missing things you need but without wasting time, demands skill and self
Qo as you modify and apply the techniques of reading. 1
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B awareness potential remarkable B attract
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Section B
Directions: There are 2 passages in this section. Each passage is followed by

some questions or unfinished statement. For each of them there are four choices
marked A), B), C) and D). You should decide on the best choice and mark the
corresponding letter on Answer Sheet 2 with a single line through the center.

Passage One 'E;ro' “Fy e g ;

Oceanography has been defined as “the application of all sciences to the study of
the sea”.

Before the nineteenth century, scientists with an interest in the sea were few and
far between. Certainly Newton considered some theoretical aspects of it in his
writings, but he was reluctant to go to sea to further his work.

For most people the sea was remote, and with the exception of early
intercontinental travellers or others who earned a living from the sea, there was little
reason to ask many questions about it, let alone to ask what lay beneath the surface.
[ The first time that question “What is at the bottom of the oceans?” had to be
answered with any commercial consequence was when the laying of a telegraph
cable(H 4> from Europe to America was proposed. ] The engineers had to know the
depth profile(2{RFZIR) of the route to estimate the length of cable that had to be
manufactured.

@[1t was to Maury of the US Navy that the Atlantic Telegraph Company turned,
in 1853, for information on this matter. J In the 1840s, Maury had been responsible
for encouraging voyages during which soundings(illj &) were taken to investigate the
depths of the North Atlantic and Pacific Oceans. Later, some of his findings aroused
much popular interest in his book The Physical Geography of the Sea.

The cable was laid, but not until 1866 was the connection made permanent and
reliable. At the early attempts, the cable failed and when it was taken out for repairs it
was found to be covered in living growths, a fact which defied contemporary scientific
opinion that there was no life in the deeper parts of the sea.

Within a few years oceanography was under way. In 1872 Thomson led a scientific

e 5 o
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expedition(¥%Z) , which lasted for four years and brought home thousands of samples
from the sea. Their classification and analysis occupied scientists for years and led to a
five-volume report, the last volume being published in 1895.

21. The passage implies that the telegraph cable was built mainly .

A) for oceanographic studies B) for military purposes

C) for business considerations D) for investigating the depths of the ocean
22, It was that asked Maury for help in oceanographic studies.

A) the American Navy
B) some early intercontinental travellers
C) those who earned a living from the sea
D) the company which proposed to lay an undersea cable
23. The aim of the voyages Maury was responsible for in the 1840s was
A to make some sounding experiments in the oceans
B) to measure the depths of the two oceans
C) to estimate the length of cable that was to be made
D) to collect samples of sea plants and animals
24, “Defied” in the 5th paragraph probably means ”,
A) doubted B) gave proof to C) challenged D) agreed to
25, This passage is mainly about .
A) the beginnings of oceanography B) the laying of the first undersea cable
C) the investigation of ocean depths D) the early intercontinental communications

[ Time

Passage Two

In recent years, Israeli consumers have grown more demanding as they’ ve
become wealthier and more worldly-wise. Foreign travel is a national passion; this
summer alone, one in 10 citizens will go abroad. Exposed to higher standards of
service elsewhere, Israelis are returning home expecting the same. American firms
have also begun arriving in large numbers. Chains such as KFC, McDonald’s and Pizza
Hut are setting a new standard of customer service, using strict employee training and
constant monitoring to ensure the friendliness of frontline staff. Even the American
habit of telling departing customers to “Have a nice day” has caught on all over Israel.
“Nobody wakes up in the morning and says, Let’s be nicer, ” says Itsik Cohen,
director of a consulting firm. “Nothing happens without competition. ”

Privatization, or the threat of it, is a motivation as well. * [Monopolies (Z& MW
#) that until recently have been free to take their customers for granted now fear

e G o
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what Michael Perry, a marketing professor, calls “the revengeful (iR & #)
consumer”. ] When the government opened up competition with Bezaq, the phone
company, its international branch lost 40% of its market share, even while offering
competitive rates. Says Perry, “People wanted revenge for all the years of bad
service.” The electric company, whose monopoly may be short-lived, has suddenly
stopped requiring users to wait half a day for a repairman. Now, appointments are
scheduled to the half-hour. The graceless El Al Airlines, which is already at auction
(#83%) , has retrained its employees to emphasize service and is boasting about the
results in an ad campaign with the slogan, “You can feel the change in the air.” For
the first time, praise outnumbers complaints on customer survey sheets.

26. It may be inferred from the passage that .
A) customer service in Israel is now improving
B) wealthy Israeli customers are hard to please
C) the tourist industry has brought chain stores to Israel
D) Israeli customers prefer foreign products to domestic ones
27. In the author’s view, higher service standards are impossible in Israel
A) if customer complaints go unnoticed by the management
B) unless foreign companies are introduced in greater numbers
C) if there’s no competition among companies
D) without strict routine training of employees
28. If someone in Israel today needs a repairman in case of a power failure, .
A) they can have it fixed in no time
B) it’s no longer necessary to make an appointment
C) the appointment takes only half a day to make
D) they only have to wait half an hour at most
29. The example of El Al Airlines shows that .
A) revengeful customers are a threat to the monopoly of enterprises
B) an ad campaign is a way out for enterprises in financial difficulty
C) a good slogan has great potential for improving service
D) staff retraining is essential for better service
30. Why did Bezaq’s international branch lose 40% of its market share?
A) Because the rates it offered were not competitive enough.
B) Because customers were dissatisfied with its past service.
) Because the service offered by its competitors was far better.
D) Because it no longer received any support from the government.
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ERBE | EWE ’f’.’f. PR A |
LY {2Y [ 3N aNisY 6N 7NG
8. solving problems for themselves S___ o ___ /15
9. independence 10. aggressive strength
[11.M{12.N13.G{ 14.C 15, H! 16.1} '.'lf?.'.'_l'i_"_'.l'_iif,ifﬂi@féﬁﬁ?ﬁ@:ﬁf ol s
21C22D23324C 25A26A27C'28029A30B¥— L

r— F T8 EWIC ‘
En.r.t.fll,. .....

psychologist [sai'koladgist] 7. L3
elementary [ ieli'mentari] adj. ¥EH
elementary school /3%

assume [o'sjum] v. BE; &K, B
aggression [a'grefon] n. 3, B

pactlb...

demand [di'meend] v./=%.
BY
Section B
Passage One

¥
remote [ri'mout] adj. BiGH

BEXRo, KBEH A
investigate [in'vestigeit] v. #2t, T#%
arouse (o'rauz] v. Wi, ¥, 3R
permanent [ 'pormanent] & A B, RAERY

commment(on) ['koment] v./n. S, BGE
ER,®BE,
; worldly-wise ['wodli'waiz] adj. it5 i
passion [ 'peefon] n. MiH, BB
i depart [di'pat] v. BIF, R HE

oceanography [,aufia'nogrofi] n. #F¥EHE

intercontinental [intakonti'nentl] adj.
boast [boust] v. &l

i campaign [loem'pein] n. &5} Gk

i take sth. for granted {AJy +---- RIBAT Y

(aggressive adj.)

consequently [ 'konsikwantli] ad. FfRA,

Bt

explore [iks'plo:] v. Bh#R, B2 R
i lean against &, §% s iR}

Section A i define as £ X4 (definition n.)
contain [ ken'tein] v. A& ;¥4 few and far between KLE R A
modify ['modifai] v. B3, XL 4EE | with the exception of R T - Z 5
efficiently [i'fifontli] ad. HE@HE, 4 | let alone TR B R
BBy 4 Cefficient adj. ) responsible for [ri'sponssbl] X ++eee il
attract [o'treekt] v. B3], 318 - ) | KE
dich: 3 i Passage Two

demanding (di'mamdiy] adj. Hk8 8, &
REH

consulting [ken'saltip] adj. ¥ #) &Y

(consult v.)

appointment [o'pointmant] v. Ly &

13 45 (appoint v.)

nay
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AIBBTAHLZ2FBALBREXEMROAARE BitiE g — 255, M %
RV KBE G FRET RRAFROREFXEFRAINT FAZER A
BB KRG, XFERNLEE, X ERFRRLBAN, “— AW AR LR
TFHe\ Reag )",

8 g

1. Y $5—BdR i, #848 Current Science 1 — & X B, EAR S H R T » L FERIA
FHELBETERESE, HETHETHEEXHA.

2. Y S BEI¥E —/A1iE45 K a person’s abilities may not be determined by sex, i
BETT R B HE FIAR T BEE N B9 — A= ARSIt \ MU BB H AR B E PRI VE D, i
8T 5 FESCHERE.

. N 557U EEIEEE —A)3% 45 44 Baby boys do not seem to notice the difference in the
size of the block, LA BT AFSHEXER,

4. N BHEBBMAHEE the nerve endings in the left side of the brain develop faster

in girls than in boys, MAA TR EMNBR S FHXEFHR , HHERN N,
5. Y SIA\BRBE—435 H aggressiveness in boys is also caused by mothers, g i, ]
MBHERBEHAEBBITFHOE—FEHA, BT HEREX.
6. N XESE T+ B8 she unconsciously trains her son to move away from her, to
develop independence, B M P A R R A M AR IS F: B B F MR, 5
THEIXRF.
7. N ERBEREHB TRREPRETFRNAR, K RESERORBRER LS
BEIRAEF AHBRERDEMREETE X EMEERELE, B ERY
NG,
8. solving problems for themselves SUEEEMFIUBE Y BB TH“EZ” fA
. BEZAABREVER T, B O RS, X R ]2 20 7 i 8
[G143 , B3 G W] 41 4L 223K solving problems for themselves,

9. independence UEEYB BN, MA L ALBREARBEERTES
SRR, o T17E B2 A0 Tl S b th & M 89, B 0 W7 S AR 4R
independence,

10. aggressive strength XERE—BRHBS —aiEMEER.

w
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l?o.r:f.u.,u"~
Section A

MEAE
LFHRBTARRRKAATRARE ;R AREFXFH: = LA SHH,

AR ERETAMEBRRN, ATREDEXE, SRBEHIH T A RES

Wik,

O] Mg gy

O xMBFREEH,APLE—/ H that 3| G5 F E N4 &5 554717 the speed of
production, —/™ B that 5| R EEFENA L EIBENT R NG E—H what 5| 519
SR EIEMNA]

MEEHEREGHAHMEPELHMEN W HIREEFR A AEY A3
1.

@ ZHMMERP - EEEN NS EVE AR, B which 3| S8 IER St
BN EFE1 reading newspapers efficiently; what 3| § #9515 M 4); %4717 things
ZJGH you need Ny SEiE M ) (B T that X R ; R fras B) S RRIBMA,
ZR#%1E% reading newspapers efficiently 44 /15, demands Xi5iE .

MTRXBAR ERAREAERK DA T BRI EERNEEAT TR
RHFL RERGEBEREAMEF ZHSEAR T ERER,
3ot RE g 42
11. M REZERHEZSEHBN 5 R AT 8, AL 8 3hiAI R % R contains, B . FHE BF
BRI L AP A (the range of ... and the range of ... ),

12. N BRI\ ETXAA, B from local ... to ... B‘JXTIF‘_'L%;E, B4k B %

international, B : A 243tb ¥ J0 SR 2 H BRI BT B IGIN AL

13. G FramiaC HEERF & 4 8 AP & 45 HIMi8 R remarkable, 7] P45 “IR KR E

BEN, .

14. C WTFXREJUIHFIRS TS by 2 /5 BIAR %R jumping BP . Bhisk,

15. H B ZHIH offers a variety to 4347, BN AT B 83X B R I attract(B 5134

EAFKIEE).

16. | relation to I BR#EH, BEHh“5 ---oe AR, AP BB LB EE”,
17. K appears in a newspaper 3§ “1R4%_F M BLAGIF 1587, FF 4 0 AL B A28 R Bt
TAFEM AL s contain BARZETE YL L k8 5, BRERSE X5 F FXRE.

18. J R EA“. .. no two people really read the same paper: . ..” s AT 51 3¢ BB B
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